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INAFE AR E N IR s 2 (JLALR) 285, 409, 366 M INAFE AR E N IR s 2 (JLALR) 296, 609, 457 M
IMAE A BNEAE I R B 2y (B3 IR) 272, 843, 786 M IMAEZZBNEAE I IR B 2y (B3 IR) 283, 225, 638 M
SN A BNEAE I R B 2y (I B R 276,710, 118 M NN AR E I R e PR e (I B ) 283, 225, 638 M
TN AZ AT T I IR B PR e (] UL 288, 309, 115 M TN AZ AT T I IR B R PR e (] UL 295, 579, 932 M
INAFE AR E R s 2ty (B R) 277,676, 701 M INAFE A BREAE IR e 2y (B R) 284, 255, 162 M
INAFE AR E N R s 2y (ZEIR) 278, 643, 284 M INAFE AR E N R sk 2y (ZEIR) 283, 225, 638 M
TMAFE A BNEAE I R B e 2y (R R) 271, 8717, 203 M TN AR E I IR et PR e (W ) 272, 930, 393 M
MG A BAEAE I R B e 28 CRUERI) 267, 044, 287 M TN A AT E I R R et PR 2 CRUERI) 268, 812, 294 M
NN AR E I IR e PR 2 (RBRF) 274, 776, 952 M NN A RS E I R e PR e (RBRIF) 285, 284, 687 M
INAFE A RSB R R e e ety (Je) IR) 264, 144, 538 M INAFE A R E R R e ety (Je) IR 273,959, 917 M
NG AR E I R R e PR e e (SRR 271, 877, 203 M NG A AT E I R R e PR e e (SRR ) 272, 930, 393 M
AT AZ A E I W R e fh =y (el i) 272, 843, 786 M AT A A E I W R e Py (el b) 276, 018, 966 M
INAFE A BAEAE I R B e 2 (SEUR) 242, 879, 710 M TN AR E I R e O e (R HUR) 251, 310, 378 M
IMAFE A BNEAE T R e 2 (BRIR) 241,913, 127 M NN AR E I IR et R 2 (R I) 250, 280, 853 M
SN A BN E I R B 2 ([ LR 253,512, 124 M NG A BN E N R B e 2y (T LR 262, 635, 147 M
TN AZ AT T E I IR B R PR ey (IR 5 ) 252, 545, 541 M PN g = A SN SV T e e~ G /N =1 9 252, 339, 902 M
INAFE AR E N R s 2 (11 JR) 251, 578, 958 M INAFE AR E N R s 2 (1 JR) 260, 576, 098 M
MAE A BNEAE I R B 2 (T IR) 262, 211, 372 M INAFE A BNEAE I R B 2y (T IR) 268, 812, 294 M
IMAE A BN E I R B 2 (F)IR) 266, 077, 704 M IMAE A BNEAE I R B R 2 (F)IR) 272, 930, 393 M
IMAFE A BNEAE I R B 2y (B iR IR) 257, 378, 456 M NN AR E I R et PR e (R I) 263, 664, 672 M
INAFE AR E N IR e s 2 (A IR) 257, 378, 456 M INAFE AR E N R s 2 (A IR) 263, 664, 672 M
N AZ R E R e P2 (e JR) 257, 378, 456 M INAFE A HREATE R R a 2 (e JR) 263, 664, 672 M
JNNGE A AT E I IR B e PR e e (e L) 253,512, 124 M NG A AT E I R R e PR e e (e BY) 260, 576, 098 M
INAE A BNEAE I R B 2 (R IR) 245, 779, 459 M INAFE A BNEAE I R B 2y (RIfIR) 252, 339, 902 M
A A BREAE I R B 2 (REARIR) 242, 879, 710 M NN AR E I IR et R 2 (REAR L) 249, 251, 329 M
IMAFE A BNEAE I R B 2 (R0 IR) 244, 812, 876 M NN AR E I R a R 2 (R I) 251, 310, 378 M
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TN AZ AT T E I IR B e PR e e (g ) 240, 946, 544 M TN AZ AT T E I IR B e PR e e (g L) 247,192, 280 M
NN A AT TE R IR DI s Py (B VR IR 245, 779, 459 M NN A AT T E R IR DI e Py (B VR IR, 246, 162, 755 M
NN A AT T E I IR D e P e (PPiELR) 228, 380, 963 M NN A AT T E S IR D e P e (PPiE L) 233, 808, 461 M
FR AT R Bt e O 2 B T B R L 3R 0. 04161 — PR AT AR Bt e O 42 B R B R L 3R 0. 04260 —
R R 2 1 Ji B PR A e ke B R LR 0. 02470 — R R 2 1 Ji B R A e ke B R LR 0. 02472 —
A BN —TVGER 1 km %472 0 fapk e (bifE) 150, 152 M,/ km A BNV —TVGER 1 km 472 0 fapk e (bifE) 148, 195 M, km
A BNV —T VHER 1 km 472 0 faid R et (G4 142, 031 M, km A BNV —T VHER 1 km 472 0 ek Rt (H4RR) 140, 316 M, km
AB N —TNVHER 1 km %720 faikfr et CHTIR) 146, 904 [,/ km ALV —TVGER 1 km 472 0 fask et CaEFIR) 145, 381 M km
A BN —TNVHER 1 km 272 0 iR 2ty (EHR) 153, 942 M, km A BN —T NVHER: 1 km %720 Sk ety (EHlR) 152, 135 M km
A BN —TVIER 1 km B 720 [k fret (FKHE) 144, 738 M, km A BN —TVIER 1 km B 720 [k fret (FKHE) 143, 130 M km
A BNV —T NVGER 1 km 472 0 sk et (LR 149, 070 M,/ km A BNV —T NVGER 1 km 472 0 sk Rt (LR 147, 632 M, km
A BNV —T VHER 1 km 472 0 ik Rt (58 151, 777 M, km A BNV —T NVHER 1 km 472 0 sk fr ety (R 5IR) 149, 883 M, km
A BNV —T VHER 1 km Y472 0 ik Rt (RBR) 155, 567 M, km A BNV —T VHER 1 km Y472 0 ek Rt (RYR) 157, 763 M, km
AB NI —T NVHER 1 km %720 Sk ety (HiAR) 153, 942 M. km AB NI —T NVHER 1 km %72 0 Sk e ety (HiAR) 156, 074 M,/ km
A BN —TNVHER 1 km 2472 0 iR ia 2ty (FEEIR) 151, 777 M, km A BN —T NVHER: 1 km 4720 fpe ety (REEIR) 153, 823 M km
A B A —T)VGER 1 km Y72 0 iRty (ER) 162, 605 M, km A BT —TVEER 1 km 472 0 ik ity (BER) 165, 079 M, km
ALV —TNVAER 1km B72 0 fagkfr et (THER) 163, 688 M,/ km ALV —TNVAER 1 km B72 0 fagkfr et (THER) 166, 205 M, km
A BN —T NVHER 1 km Y472 0 faakfr et CRAAD) 174,516 M, km A BN —T VHER 1 km Y472 0 faadfr et CRAAD) 177, 461 M, km
A BN —TNVHER: 1 km H72 0 fikfr ety ()1 IR) 164, 229 M. km A BN —TNVHER: 1 km H72 0 fakfrety ()1 IR) 166, 767 M, km
AR N —T NVHER 1 km 472 0 faik et CEiR) 152, 860 [,/ km AB NI —TNVHER 1 km 472 0 Sk et CoEiR) 147, 632 M km
A BN —T NVHER 1 km 4720 fapefret (F1LIR) 158, 274 M, km A BN —T NVHER 1 km %720 fapefret (F1LIR) 158, 325 M,/ km
A BN —TVIERE 1 km S 72 0 fEi (a2 Ca)llE) 158, 815 M, km A BT —TVEER: 1 km 472 0 kit Ca)IlR) 158, 888 M, km
A BN —T VHER 1 km 472 0 ek Rt (IR 146, 363 M, km A BN —T NVHER 1 km 472 0 sk Rty (IR 148, 758 M, km
A BNV —T VHER 1 km Y472 0 ek Rt ((LFLUR) 161, 522 M, km A BNV —T NVHER 1 km Y472 0 ek ety ((LFLUR) 163, 953 M, km
ABANT—T VIR 1 km Y720 fagkfr et (BEFR) 154, 484 M. km AZNT—T VIR 1 km B 720 fagkfr et (BEFR) 156, 637 M, km
A BN —TNVHER 1 km 2472 0 fEiR {2y (R 156, 649 M, km A BN —T NVHER: 1 km 472 0 fpe ety (R IR) 156, 637 M km
A BN —T NVHER: 1 km 4720 S ety (5 IR) 163, 146 M, km A BN —T NVHER: 1 km 472 0 fpe ety (5 IR) 163, 391 M,/ km
A BN —T NVHER: 1 km 472 0 ek Rty (BalR) 157, 191 M,/ km A BN —T NVHER: 1 km 472 0 ek Rty (BalR) 157, 200 M, km
AB N —T VHER 1 km Y472 0 ek fr ety (Z&EIR) 157, 732 M, km ALV —TNVIER 1km H72 0 fagkfr et (ZEHR) 156, 637 M, km
AB N —TNVHER 1 km 472 0 S fr ety (IR 153, 942 M. km AB NI —TNVHER 1 km 4720 Sk e ety (IR 151, 009 M,/ km
AB N —T NVHER 1 km 472 0 faie et GUERY) 151, 235 M. km A BN —TNVHER 1 km 4720 faie et GUERY) 148, 758 M,/ km
A BN —T VAER 1 km B 72 0 gk fret ORBA) 155, 567 M, km A BN —T VIER 1 km B 72 0 gk fret ORBA) 157, 763 M km
ALV —TNVAER 1km B72 0 fakfr et (LER) 149, 611 M,/ km ALV —TNVAER 1 km B72 0 fakfr et (LER) 151, 572 M, km
A BN —T NVHER 1 km 472 0 fasdfr ety (REIR) 153, 942 M,/ km A BN —T NVHER 1 km 472 0 fasdfr et (REIR) 151, 009 M, km
ALV —TVAERE 1 km B 720 gk fraet (Fnakil &) 154, 484 M, km ALV —TVIERE 1 km H72 0 gk fret (Fnakilg) 152, 697 M, km
A BN —TNVHER 1 km %720 fapk et (BEUR) 137, 700 M. km AB N —TNVHER 1 km %720 fape et (BEUR) 139, 190 M,/ km
A BN —T NVHER: 1 km 472 0 fpe ety (BRI 137, 159 M, km A BN —T NVHER 1 km 4720 fpe ety (BRIE) 138, 627 M,/ km
A B —TVAERE 1 km 72 0 fEi e et (L) 143, 656 M,/ km A BN —T VIER 1 km B 720 g frety (i liR) 145, 381 M km
A BN —T NVGER 1 km 472 0 sk Rty (AEIR) 143,114 M,/ km A BN —T NVHER 1 km 472 0 sk Rty (AR 139, 753 M, km
A BNV —T VHER 1 km Y472 0 ek ety (L&) 142, 573 M, km A BN —T VHER 1 km Y472 0 ek ety (LR 144, 255 M, km
A BNV —T NVHER 1 km Y472 0 ek fr ety (FEEIR) 148, 528 M, km AB NV —T NVHER 1 km 472 0 fapk Rty (FEEIR) 148, 758 M, km
A BN —T VIR 1 km B 720 gk fret (FIIR) 150, 694 M. km A BN —TVIER 1 km B 720 fagkfret (FIIR) 151, 009 M, km
A BN —T NVHER: 1 km 472 0 fpe ety (EgIR) 145, 821 M, km A BN —T NVHER: 1 km 472 0 S ety (EgR) 145, 944 M,/ km
A BN —T NVGER: 1 km 472 0 ek Rt (& 5IR) 145, 821 M,/ km A BN —T NVHER: 1 km Y472 0 ek Rt (& aIR) 145, 944 M, km
ALV —TNVAER 1 km B 720 faakfret (&) 145, 821 M,/ km ALV —TNVAER 1 km B72 0 fakfret (&) 145, 944 M, km
A BN —T NVAER 1 km 272 0 gk R et (EER) 143, 656 M, km A BN —T NVAER 1 km 272 0 gk Rt (EER) 144, 255 M, km
AB NI —TNVHER 1 km %72 0 faikfr et (RIFIR) 139, 324 M. km AB N —TNVHER 1 km 4720 Skt (RIFIR) 139, 753 M,/ km
ABZNT—TVIER 1 km Y720 [k fret (REAR) 137, 700 M. km A BN —TVIER 1 km Y720 [k fret (REAR) 138, 065 M, km
A BN —T VIER 1 km B 72 0 [k fret (RoR) 138, 783 M, km A BN —T VIER 1 km B 720 [k fret (RoR) 139, 190 M, km
A BN —T NVGER 1 km 472 0 iRty (=iEIR) 136, 617 M,/ km A BN —T NVGER 1 km 472 0 sk Rty (=iEIR) 136, 939 M, km
ALV —TVIER 1 km H72 0 gk fret (EIEER) 139, 324 M,/ km ALV —TVIERE 1 km H72 0 fagkfret (EIRER) 136, 376 M, km
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A BNV —T VHER 1 km Y472 0 ek Rt (FhIR) 129, 579 M, km A BNV —T NVHER 1 km 2472 0 ek Rty (FhiIR) 129, 623 M, km
A B —T VAIANE B Y 72 O fiak PR g 218 R A B —T WAIANE BN 72 O fiak PR g 224 R
IMARIr —T7 NAER 1 km 472 0 gk e (AbiEE) 28, 891 M, km IMAZRIEr — 7 NVAER 1 km 2472 0 gk (bigE) 28, 719 M, km
IMARN — T NVIER 1 km Y470 faa a8 (FHRE) 27, 328 M, km IMAZRIE T — 7 NAER 1 km 2472 0 sk 28 (F4R5) 27,192 M km
IMARN 7 —T7 NVIER 1 km %70 [k e CAETIR) 28, 266 M, km IMARNr —T7 NVIER 1 km %70 [k e CAETIR) 28, 174 M, km
IMAFNA —TNVIER 1 km 7= 0 St e2g (EuiR) 29, 620 M, km IMAFNA — T NVIER 1 km Y72 0 fa it egr (EuiR) 29, 483 M, km
AR — 7 VAR 1 km 2472 0 ik {2 Bk IR) 27, 849 M km AR — 7 VAR 1 km 2472 0 ik 2 Bk IR) 27, 738 3, km
IMARN A — T NVIER 1 km 7= 0 faa a2 ((LER) 28, 682 M, km IMAZRIEr — 7 NAER 1 km 472 0 gk e (LER) 28, 610 M km
IMARN A — T NVIER 1 km Y470 faas a8 (R 29, 203 M, km IMAZRIEAr — 7 NAER 1 km 472 0 ik 2 8 (R &R 29, 047 M km
IMARN — T NVIER 1 km 2472 0 faa a2 (R¥R) 29, 932 M, km AR — 7 NAER 1 km 2472 0 g2 (RIR) 30, 574 M km
IMARN 7 — T NVIER 1 km %720 faa a2 (HiARR) 29, 620 M, km IMARN 7 — T NVIER 1 km %70 faakfeag (HiARR) 30, 246 M, km
AR — 7 VAR 1 km 2472 0 ik {2 (BEEIR) 29, 203 M km AR — 7 VAR 1 km 2472 0 ik {2 (BEE ) 29, 810 3, km
IMARNr — T NVIER 1 km Y4720 [k feeg (BFER) 31, 287 M, km IMARNr — T NVIER 1 km %720 [k feeg (BFER) 31, 992 M, km
IMARN A — T NVIER 1 km 470 faa gy (THER) 31, 495 M, km IMAZRIE 7 — 7 NAER 1 km 472 0 gk (THER) 32,210 M km
IMARN A — T NVIER 1 km 247 0 faa a2 CGRALHED) 33,578 M, km IMAGRN A — T NVIER 1 km 247 0 faa a2 CGRALHED) 34, 391 M km
AR — T NAER: 1 km 2472 0 fae Rt (5)11R) 31, 599 M, km MRS — T NAER: 1 km 2472 0 fae Rt (5)11R) 32,319 M, km
AR — 7 VAR 1 km 472 0 ik 2 CHris ) 29, 411 M, km AR — 7 NAER 1 km 2472 0 ik 2 Coris ) 28, 610 4, km
MRS — T VEER 1 km 2472 0 sk e et (FI0E) 30, 453 M, km MRS — T VEER 1 km 2472 0 sk e et (FIUE) 30, 683 M, km
ARy — T NAER 1 km 472 0 faid 2 CA)IE) 30, 557 M, km IMAZRIEA T — 7 NVAER 1 km 472 0 gk Ca)llR) 30, 792 M km
IMARN — T NVIER 1 km 7= 0 faa a8 (EIFER) 28, 161 M, km IMAZRIE T — 7 NAER 1 km 2472 0 gk {2 (RIHFR) 28, 829 M km
IMAGRN A — T NVIER 1 km 7= 0 faa a2 ((LBLR) 31,078 M, km AR — 7 NVAER 1 km 2472 0 gk (LIELR) 31, 773 M km
AR —T NVIER 1 km %720 faakfrag (REIR) 29, 724 M, km IMARNr — T NVIER 1 km % 7= 0 faakfreg (REIR) 30, 356 M, km
AR — T VAER 1 km 2472 0 sk e et (I RIR) 30, 141 M, km AR — T VEER 1 km 2472 0 sk e et (I RIR) 30, 356 M, km
MRS — T VAER 1 km 2472 0 faa ety (i) 31, 391 M, km MRS — T VAER 1 km 2472 0 s ety (i) 31, 664 M, km
IMARIr — T VAL 1 km 472 0 gk 2 (k) 30, 245 M, km IMAZRIEr — 7 NAER 1 km 2472 0 g2 (BaR) 30, 465 M, km
IMARN — T NVIER 1 km Y47 0 faa e (Z&EIR) 30, 349 M, km IMARN — T NVIER 1 km Y470 faa e (Z&EIR) 30, 356 M km
IMARN — T NVIER 1 km 2472 0 faa ey (R IR) 29, 620 M, km AR — 7 NAER 1 km 2472 0 g2 (B R) 29, 265 M km
AR — T VEER 1 km 2472 0 s fhet GLEbT) 29, 099 M, km AR — T VEER 1 km 2472 0 sk fhe® GLEbT) 28, 829 M, km
IMARN 7 — T NVIER 1 km %70 faafreag (CRIK) 29, 932 M, km IMARN A —T7 NVIER 1 km %70 faa a2 (CRI) 30, 574 M, km
IMARN A — T NVIER 1 km 2472 0 faa gy (JolEIR) 28, 786 M, km IMAZRIE 7 — 7 NAER 1 km 2472 0 ik (JefER) 29, 374 M km
IMARN — T NVIER 1 km 470 faa g (RRIR) 29, 620 M, km IMAZRIE T — 7 NVAER 1 km 472 0 gk {2 (KRIR) 29, 265 M km
IMARN A — T NVIER 1 km 4729 S22 (Fodkl i) 29, 724 M, km AR —T WVIER 1 km 24720 gkt (Fnkil ) 29, 592 M km
AR — 7 VAR 1 km 2472 0 ik 2 (SHUR) 26, 495 M km AR — 7 NVAER 1 km 2472 0 sk {2 (SHUR) 26, 974 4, km
AR — T NVIER 1 km 7= 0 faak g (BRIER) 26, 390 M, km IMARN 7 — T NVIER 1 km Y70 faa g (BRIER) 26, 865 M, km
IMARN A —T7 NVIER 1 km %70 faafreage ([ IR) 27, 640 M, km AR — T NVIER 1 km %70 faa a2y ([ IR) 28, 174 M, km
IMARN — T NVIER 1 km Y472 0 faa g (LR 27,536 M, km AR — 7 NAER 1 km 2472 0 gk 2 (K& R) 27, 083 M km
IMARN A — T NVIER 1 km 472 0 faa a2y (0o 27, 432 M, km IMAZRIE 7 — 7 NVAER 1 km 2472 0 gk (11m &) 27, 956 M km
IMARIEr — T NAER 1 km 2472 0 gk (fEER) 28, 578 M, km IMAZRIE 7 — 7 NVAER 1 km 2472 0 gk ef (fHER) 28, 829 M, km
IMARNr — T NVIER 1 km %70 faak e (BIR) 28, 995 M,/ km IMARNr — T NVIER 1 km %70 faak e (B 29, 265 M, km
AR — 7 VAR 1 km 2472 0 ik 2 (g R) 28, 057 M km AR — 7 VAR 1 km 2472 0 gk {2 (g R) 28, 283 M, km
IMARN 7 — T NVIER 1 km Y70 faa a2 (EaR) 28, 057 M, km IMARN 7 — T NVIER 1 km %70 faa a2 (EanR) 28, 283 M, km
AR — T NVIER 1 km 472 0 faa a2 (R IR) 28, 057 M, km IMAZRIEr — 7 NAER 1 km 2472 0 g2 (R R) 28, 283 M km
IMAGRN A — T NVIER 1 km 247 0 faa gy (R IR) 27, 640 M, km IMAGRN A — T NVIER 1 km 47 0 faa gy (R IR) 27, 956 M km
AR r — T VEER 1 km 2472 0 sk fh et (RiIGE) 26, 807 M, km MRS — 7 VEER 1 km 2472 0 sk fh et (RiIGE) 27, 083 M, km
AR — 7 NAER 1 km 472 0 ik {2 (FEAIR) 26, 495 M km AR — 7 VAR 1 km 2472 0 gk {2 (FEAIR) 26, 756 M, km
AR — 7 VAR 1 km 2472 0 ik 2 (R IR) 26, 703 M km AR — 7 VAR 1 km 2472 0 gk 2 (R IR) 26, 974 M, km
IMARNr — T NVIER 1 km 47 0 faa a2 (EiIR) 26, 286 M, km AR — 7 NAER 1 km 2472 0 g2 (B IR) 26, 538 M km
IMARI 7 —T7 NAER 1 km 2472 0 faa e (RS 26, 807 M, km AR —T NAER 1 km Y472 0 fasx et (FEVEEIR) 26, 429 M, km
AR — T NAER 1 km 2472 0 gk (iR 24, 932 M, km AR — 7 NVAER 1 km 2472 0 k{2 (iR IR) 25, 120 M, km
IR — 7 VM [BIRR Y 72 0 s 2 218 M a5 IR — 7 VM [BIRR Y 72 0 sk fr 2 224 M/ [Bl#}
KR — 7 VAER 1 km 2472 0 ik 2 (bifEE) 124, 172 M, km KR — 7 VAR 1 km 2472 0 ik 2 (JbifEE) 169, 104 M, km
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